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Q.No: 1

Passage:
e A T Y TR S UgaR U@ T URAl & Wed SRd IR Ak faded! BT 9ud Hifer-

TS Ter & ) oo v weayyf @igR § e d o gfvar § e ol & @it gR off 7 o 1 A U Ui Iua § o vt 9 =ftd g § wAm o g1 3 vy €Y & Sfeay W AR
i T F R g 3 7R ¥ SUER dieq B 9 W § 197 st 7d & g @t & R § SR SHe! SUSR diedl § WRaR 3 F@ 31 9t aeiedr IuER &l &1 g9 921 gl §
ar S TTeT-fieT & Y@a § 5 S Giar M SR Sfdd: T BT Sa9R T BT § SR IR TR SUSRT F WY Widl 12 79 TR B 31 3 1fFmg F <ieR # 98 U W § ¥ | 39 R e
F1E T IR A §1 T B IRAR F O IR ST @ F a1aa § e 81 3159 04 # frers, e, M ors, framw s, Soad) avqt o of miaTe wew, ddl, Redar iR 9y
F 1Y A % Ypod H € 3ut aial # 9 91 81 39 T B A T MR, TEeR, U 7iee, A et | ek 7 g1 vy S, SO o % S F S iiad & aaeR W Sarsar
R &1 T A § T Ta S 31 e F R oy 10 B eRell R NS T g g8 g e, ga ofR §g Al gRT W R S ot T R ofR wigg sadT g1 g R | e &
N off 7= SIR g ey &1 Y A §1 39 TRE Fohur T AR Rl 61 Uee Y fTe-Se) YeH BT Rl a1 § 1 S Tiie Fed 9-dH-gRadl Y a1 YR 1 el g1 4 {1

fow e fawedt & & Swad T & fag Sfad <ie &1 99 Fiful

A frama: T WiER

B =fid Bg BT =T

c foramT &t &1 wew

D T Ud 3UF ITER
Passage:
g A AT T TR S UgdR U T Ul & Tad Sid <R K fadmed! a1 9a Sifon-
3T THeE % R e 1o Heayyt TR § griie 3 i gfvar F ger ol % dnit gRr off TR S 81 3 O Wi Sd € St ant & =it w5y & 7 o @1 3 vy 3§ F o ieas W T
i & & GRT FramR it Aoty ® JUER afcy 31 I8t TRRT 3 1/iaT st 1d & T Wit & W Fa) S6! SUER diedl € @R ¥ I B 9 Fenfedr IUER I 31 I I Agadr &
4t 3 T § U § 5 S Giar oM oiR i Tt T SAWR GeT BT § SR 3R TR IUSRT & WY TiAT 12 79 7RI B ot 81w & dier # 95 v W § A 39 R e

Q.No: 2 m1¢ Ovd iR 2d ¥1 SR BIE URAR H 4 IR % I & alad & it 8id 2139 ud & firerg, =ibae, N ore, fhama Us, Tomad awy of ot uiaie wew, <, Reder 3k ugiiy
F Uy A & goord H  3ua! FaREl # e oI ¢ 39 7 B AN T MR, TEER, Ui 7ie, oA et | fae g 81wy S, S ol & e F orfeay & oawR W sy
AT BT A T R o A o Bt e & R Wy E30 1 ekt R Ao T B Igd gl A Reuwd, gaT SR ¢ Ol gR1 WR a1 W ol T 9 $iR Sigg s 81 g o A fhawa
=0 oft 7= oI g Ooum &1 9y A1 €1 39 RE Frurt &1 AR anil & 99 91 AIT-Gae 387 &1 G 3aT 31 S Wiie Hed I-<H-gRdl 3 a1 IR 1 9ad w1 o B
JHIRT T & HTER, S FY B T PITT-

A Wy £, ST o] & WIS F THIGAT F AR W SAEUT gRT FFEw IR1E &) AT o6

B foraea ¥ WigR # 95 UF Wt § & |l 59 R o Sl ok Rezdert @t 1 gk i o 1t o &

C foama o & freTé, diede, MAT o, framw TS, awmad awgt onfe «ft mitaie Tew, <al, Raar ok TEIRM &1 33 3t W 21

D Fpwe TP U Soa § S aul & e By § HeTar o 1

Q.No: 3 Passage:
E=r: R o M e Y uge} R T TRl & TE IR SR 9t fawed! B 99 FIfm-
Eoré Trer & ol e ve Teagyf iR § el 3 o g § o ol & |t g o T o €1 3 o oieie Ioad © S aul § 2fta g B wA o 813 Y 5 % Srafead W A
Tidl F F GRI 5w 3 AR § SUGR dicd B 91 IR ¢ i gt ud & g @ & Wi F FeR 36T SUSR dicdl § WdR ¥ ¥= $I a1 Auliedl SUSR &l g1 I 981 gadl 9
ar o ATe-fiat & g@d § 5 S Oiar o ok sfdd: I BT Sa9R T ST § SR 3R TR IUSRT F Y AT 12 T9 TR B 31 15y F digR ¥ 97 U W § A 39 o e
FTS Ao 3R 2 T T B URAR & AT 3R SR 9 & g1ad B M 810 8139 ud # e, diwde, WM aid, franw Us, Tomact awqy ofe ff uiare wew, R, Reder ok 7Ry
T Y TR & Tod H 8 S9! aikal & g O g1 39 f&F 31 A TH e, R, Ui TR, oA et 3 ek aem 81 my a1, SO o & IR0 F ey & oA W Earsal
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QT BT T AT § P A S @1 e & o oy $301 @1 eReh R A T 3190 g # fhend, gar SiR §g i gR1 W o S aren U9 faRi ofR STgs saeT g1 g oR A e &
R H oft 7= ORI TFaHE BT 9 AN §1 T IRE OE BT ARR A P Gas A1 fEI-Sed) 8 B TR a1 81 S T Fed A-SH-gRadt @ Yo SR &7 9ed 997 o B

IR TR & SFIER, Y EH-gRAdl B a1 HUR B 9a9 791 9 §1 95 A H I P swr ¥

ST Faet A
TgTen Wi
T3 M A
S weite A

Passage:

e =R 3T U TR @Y UgaR Y TN U F 9ed 3R IaR ard et B 9o Sif-

org Tt ¥ ol frawg ve meagyf @R § i 3 il g ¥ gR ol & i gry ot wern s 81 3 e urie Sora § S ant & i g A whn o g1 3 vy 3 % shafas W wR
HidT FO F GRT o 3t AR # JUGR died &I 91 T ¢ T Fard ¥d & whg Tl & R T 9ok 6! SUSR aied] § URIdR I =i $ dl Telihdl SUSR odl ¢ I 991 Agadl §
Y 3o ATI-aT ¥ ged § & &a Iiar 3 SR Sida: ol B Sa9R T BT § SR ¢R IR USRI & A1 FidT 12 o HERI B SH1a 3 17500 & @ieR § 98 T W1 3 & @ 39 o e
FTE Ao ok AT 1 TR 1S uRaR F T SR SR I & F1aa | 2 91 B 159 ud A e, diwde, W e, e U, wemadt awgl enf oft miarfve wew, <, RdeR ok woify
F Y TEA % gead F § 3T@) qiE § o 9 31 59 T B A T e, TR, Uil BAme, 3o e § fas) g 81wy SaT, Sur of & et & ey % SiaeR W Sarsay
@it 1 ¥ T § % g Sifa @t e & ol wy SR 1 exell R Ao R 1gd g B frema, gar iR 9 ani gRT wR a1 9 aren U ki SR SgE sraer 71 g R # frema &
29 7 1 7= oI g2 hawd 1 o1 HAIS €1 39 ORE O B GIgR Al B G Ty -G X6 B Gl &l §1 ST e ®ed A-dH-giadl @ a1 YR B e w97 8 B

Al # @ $9-u1 W ] 0™ &1 9 -0 32
Hrarm
Becicd
HEPHIAT
Faga

Passage:
fIER1: ST B UgHR G T U= & G IFd SR At [adedt ol 94 Piforg-

feH, Faa fea-

o i@y 7

fon @ i e

-7 He R
Hieioaaq ferreTied
R A €

it

W quen

oaT

T gfcrgra-vdien &

T wategd +ft At §
oyt #i

TR Ft MR-y yons @
-

T4 & AT Ted W
giR-ga fora <@
HiaauiR 94 &
T4 Tgivs-Rey A
oT &1 Afyg
Tg SaR

fRreR, Tl
TG
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Q.No: 7
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qH T
YAgEy 39 fow e #

e B & Iudad dfkt & Yafddr &1 9 Sage-
qragw Tt TAd=

et

URE-TeTe agadt

T Ager

Passage:

R P F UgaR I T U= & 9ol IFd I ard [adbed! ol 984 Hifoe-

f&m, Saa fen-

o Rrawy §

fow € fom o
-7y e R B
ieeErad faresTfe
fera & g

e

Wy qud|

ol

T gidera-udien &
T8t wranfezal f & §
fom et #|

Rrar 3 IR-yraw et Wt
REGE I

A4 F e ea W
gRrfl-3ger fera <)
remauik a4 &

T4 wgive-Ry #
fom &1 IR

g TR

RreR, wfiRrER
TG

i FiE

o ¥ oM v

Iufad Ufekaed & AR e WM @t gid Sifore-

_ @t iR-vene yomsl W vad-mrend 9 & F_ w gfd-ge R <
e, Rt
fRmar, wew
ed, wTd
fRw, ufeht

Passage:

P& HI B Tgax I T WAl & TG4 Ifd Iak a1 faed! &l 9o Hifore-

few, Faa fen-
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3 Rawy &

fom &t i e

-7 W R
Hiorerad ferretad
TR A B

i

g qol

ECIE)

T gfogra-vidien &

T watead At §
fom Yt )

TRran it IR-wer yoed W@
Tad-Hry

A4 & I ged W
TRyE-e e <
ek 94 &
39 Tius-Rey A
foT &1 AfRya

g SR

R, iR
TG |

% W
ey 59 fow e A

= § § PH- weg ol &1 yeigard 82

Passage:
& A PT UgHR Yo T U] & G969 3Tad ek ard [ddbed! $T 9a Hiferg-

feH, Faa fea-

3 ey

fom 8 fem o
-1y T R $
ST fewTeTied
AR & g

afelt-

Y qo|

o TRT

o sioera-dten A
TgT e f ¥
o Yt I

fRrar @t IR-vrer omed @
- HRY

4 & i ged R
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TR-ge for w1

Hragaofk 94 &

T Tervs-Ry &

fon &1 AR

g SR

RRER, ufaeR

TG |

e I

gy 39 for wew A

e & @ o weg 1 v Sudet vifddt & e foar wan €2

A Ry
B ECitaf
C EEIE)
D Sifrarar
I Y W gd & il ot ot 51 gt B1 ora: GH: mufy gof e A o wHn
Select the word which means the same as the group of words given below.
Q:fo: 3 One who possesses outstanding technical ability in a particular art or field
A Amateur
B Virtuous
C Gourmand
D Virtuoso
In the following question, a passage is split into 4 parts and named as P, Q, R and S. These four parts are not given in their proper order. Read the passage and find out wt
combinations/sequence is correct.
P. 'Schizo' means "to split" and is related to word 'schism' while 'Phrenia’ refers to the soul Or the mind.
Q.No: 10 Q. 'Schizophrenia' comes from a combination of the prefix 'schizo' and the suffix 'phrenia’, both of which are borrowed from Ancient Greek.
R. Prior to this, the illness was often called '‘dementia precox', which translates into 'precocious madness', which was initially an umbrella term to describe severe mental ill
S. The term was coined by the Swiss psychiatrist Eugen Bleuler in 1908.
A PSRQ
B QPSR
C PRQS
D QSRP
I WY TR qd H Smafxy gof Bt o AT B1 3r: T Smatw ot g B S g |
A sentence or a part of the sentence is bracketed and is in bold. Below are given alternatives to the underlined part which may improve the sentence. Choose the correct a
Q.No: 11 improvement is needed, choose "No Improvement".
Please turn off the AC. It is (fairly) cold.
A No improvement
B rather
[of mostly
D apparently
The question below consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical order of sentenc
P. A shop owner placed a sign board of “Puppies For Sale”
Q.No: 12
Q. And to no surprise, a boy saw the sign and approached the owner
R. This type of signs always attract young children
A QPR
PRQ
C QRP
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D RPQ

In the following question, a sentence has been given in Active voice/passive voice. Out of the four alternatives suggested, select the one which best expresses the same se
Q.No: 13 and mark your answer.

Five explosions rocked a city in France yesterday.

A A city in France was been rocked by five explosions yesterday.

B A city in France was being rocked by five explosions yesterday.

(o4 A city in France was rocked by five explosions yesterday.

D A city in France is rocked by five explosions yesterday.

Q.No: 14 Which of the following teaching-aid will be helpful for a teacher to teach "Friction"? Fofifed & 9§ oH-0 Rieor ol o R & o oo ggm # 98 8

A Water bottle o @t A

B Scale Hd

C Kite T

D Square box iR fSar

I WY TR g F SmafRy Iof Bt o gAY B1 3r: T Smufw ot g B S g

Q.No: 15 Which of the following factors does not affect the resistivity of a material? Fafifaa # ¥ SF-u1 $RS arrlt @t gfadiyed S yeafdd T8 wRar g2

A Pressure CiE)

B Nature of material Tkt st u?ﬁr

C Length of the material el Bt g

D Area of cross section P YR FT &TGA

Q.No: 16 In which of the following conditions the object will sink into the liquid? o 7 @ fow fRufa % axg 59 o ga omefe

A It does not depend on weight of the body Tg WR & YR R PR T srar

B When weight of the body is greater than buoyant force W9 IR BT YR I<ad g & T91 Siel §

C When weight of the body is equal to buoyant force S TR ®7 HR IRTaD 9 b ax7aR oidl &

D When weight of the body is smaller than buoyant force d TR BT HR IS 9 @ BleT gl &

Q.No: 17 Beriberi is a term used for which vitamin? A vz o e & Rrg waivt fosar o &2

A A A

B B12 B12

C B6 B6

D B1 B1

A Physics teacher wants to adopt the heuristic method of teaching. Which of the following be done aiifast Riers Rremor 31 E‘Iﬁm UG B ST AT gl

Q.No: 18 by the teacher in the class to adopt this method? 3T UG 3 Ham # oaH & R Rigre g1 Aufafaa § 9 @1 far 9 =g

A Explain the laws of Physics to the students by giving real-life example qfa® Sad BT IaTeRur 3o faenfial @Y Wfadt & e 9t saren w=

B Tell the students to justify the Archimedes principle with the help of experiments. farenffat & v @Y TeTaar @ snfHRI & Rigia 1 9l sevm & g

C Tell students to solve a physics problem. frenfifat @) Hifeat & uy oo & R e

D Do an experiment and tell the students to observe it carefully. TF WA S faanfial st 59 WH"E&:F SaH B & T Fl

Q.No: 19 A ray of light that travels after reflection away from a mirror is known as - ST Pt ag fop=or o R P g Y01 A ® ksl %, FHgart '3'—

A Reflected ray RTafdd faor

B Incident ray smafe fvor

C Normal ray Sifirera fswor

D Straight ray Hteft famvor

I UH TR qd # ARy ol Bt o gHI B1 31 T: AU got S BY o gt

Q.No: 20 A virtual image is always: wF oHrft BT TR et 7

A It depends on the position of the object g 9y & R W PR sear &
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Larger than the object
The same size as the object

Smaller than the object

Q.No: 21 Which of the following metals is the most abundant in the Earth's crust?

A Aluminium
B Zinc

C Copper

D Iron

Q.No: 22 Which of the following is not a constrain faced by food industry in India?

A Streamlining of food laws.
B Non-availability of the right quality of processable raw materials.
C Seasonal excesses and scarcities of raw material causing wide fluctuations in the prices.
D Emerging urban middle class.

To protect tooth decay we are advised to brush our teeth regularly.
Q.No: 23

The nature of the tooth paste commonly used is
A Neutral
B Basic
c Acidic
D Corrosive

Q.No: 24 What is to be kept in mind while selecting appropriate instruction material?

A The corrective materials should not allow individuals to progress in their own pace
B =
to work independently
c The corrective materials should be designed to correct all the students' individual
difficulties
D The work of the slow learners need not be observed for correcting them

Q.No: 25 Where does the word 'Mole' come from?

A Greek

B Latin

C German
D French

Q.No: 26 Which of the following is correct statement about DNA and RNA as genetic materials?

A It is not known which is better DNA or RNA as the genetic material.

B RNA is a better genetic material.
DNA is a better genetic material.

D DNA and RNA both are equally good as genetic material.

Q.No: 27 Which one of the following is not the uses of washing soda?

CEES
T F A TR
avg | oler

Foffaa 8§ FH-3 arg gedt @) gud) F Fed wwR Ann A 87
it

Riw

GIc

et

Frafafed & § S1H- 1 4R & Qe SERT R A1 9 S el arr

e

W] FIA B FRIR G-I

UisHaT Tg F AT S |l UG B S|

et anfirerr sl we) Tra @t Bt & FRU Bl § oue IaR-99d
JURET g G THT |

-6 ¥ 999 & g g Frafiid U ¥ S il B 5% 3R Bt garg §t 9 §
AR TR FRA BT o ardt ¢y ke 1 el Bt §

Geea)

e

ety

ek

Iugad RI&01 Wl &1 9099 XA G0 foh ad! o1 9 @ Aiel?
PURTHS A ) il Bt e v A wila & it ergafy 78 it

The corrective material should not be graded, self-directive and should not allow students JYRT® AITN 1 quifepd 8l fan wrm aifey, @-Féwe ok fenfiar

srgafe Y & e
RIS AR &) faenfial & auft sisamal @ Sie A ¥ R feerda
it nfer & Rrenfiat & gurA F e 37F 1 &7 saeis He o g

e W FH W S 32
LSl
A=
A
g

T SR RTTT F IR B 7w gnel & wu § Fufifed § 3 o @ sy
g Ta 761 § & ngafie annh & w0 § #9 Jg@ eaw @

SRTT B

HRTAY T F5a raifire awt §

ST T FgeR orgaife "k 71

T 3R IRTAT Y JTaRIs Al & wuE E 3 €1

P & § SH-a1 aiiv dis1 o1 Sudh T8 82

A It is used in acid fire extinguisher =TT SN TRYE aif¥remae a3 | féar W @

B It is used as a cleaning agent mw‘cﬁﬂwﬁqﬁ?%mﬁﬁmm%

C It is used in to remove permanent hardness of water mmmﬁmmﬁﬁaﬂﬁa?mmﬁm%

D It is used to manufacture Borax TUPT IUGNT SR F Frmfor § fear omar @
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Q.No: 28 IVF when fertilisation happens out sided the body, can be expanded as:
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S T 2R ¥ 9IeR 811 8, @ IVF T iR 39 TR far o I |

A In Vivo Fertilisation &1 et widargorm
B Intra Vaginal Fertilisation 321 VST BicageRE
C In Vital Fertilisation arged widargoRe &
D In Vitro Fertilisation T fag) widargem
Q.No: 29 According to the law of gravitation, the force of gravity is act between- @By & FH & SER TeaIByu 9o e s & T 3-
A Any two bodies having some mass fogt &Y fist & wamum=
B The earth and a point mass only W\li@ aﬁvwﬁgmﬁ
C The earth and sun only Fad gt ok gd
D Two charged bodies only Fad 41 ke Fem
Q.No: 30 A plastic spoon is dipped in a cup of ice cream. Its other end- WRE B T 99T B MFUHH $ WA T T 74T 81 0BT g6 RRI-
A Becomes cold by the process of conduction. re B ufsear & ST 8t s
B Becomes cold by the process of radiation. faferzor 1 wftear & Ss7 & S@m
C Does not get cold &eT A8 g
D Becomes cold by the process of convection. ag Ft uikar § ST 8 e
Q.No: 31 Which of the following is not a product when a hydrocarbon is burnt? BRSPS F oM TR HEiad ¥ 3 HF O IS Te) 82
A Energy i
B Hydrogen GECIEE
C Water arft
D Carbon di oxide BT ST3 3eIgS
Q.No: 32 If the velocity of a body is doubled its kinetic energy ofe; foret s @7 37 ST R o e ot Suat Tfae Folt
A becomes 4 times 4 71 ) W1 7
B becomes 2 times 2 AT E ST ®
C becomes 3 times 3 Wﬁm%
D becomes 1/2 times 1/2 TN waT
Q.No: 33 Which of the following is not correct about C60? €60 F IR A Fmfafea & ¥ 19w a8t 7 82
A €60 is called buckyball too. €60 Y adtare Wt wer o 2|
B It is an intertwined ring of aromatic framework. g Frfta e &1 T oo # T gor oy |
[of C60 particle has asymmetrical structure. C60 BT B AT Hwa=T ﬁ?ﬁ %I
D It has 20 hexagons and 12 pentagons of sp2 hybridized. Sﬂﬁ 20 9gHsl 3R 12 ti?IH\‘vT sp2 LiCats| Bﬁ %'l
Match List T with List IT and select the correct answer using the codes below: T 1 11 g B 9 e g Y s @1 W 9 w6t 8
List I (Synthetic Fibre) [ List I (Characteristics) TN (ac® | A1 1l (axadrg)
A Rayon 1. Fabric made from this fibre does not get wrinkled easily BIFaY)
Q.No: 34 B. Polyester 2. Winter clothes made from this fibre are relatively cheaper than the ones made A, O 1. 39 BI3ax 4 64 DTS W A9 9 <Al 7ol USdl 6
from natural wool [ B. Te®eR 2. 38 BIgax 4 a1 9icd] & HUS WPldd H J a4 at
C. Nylon 3. obtained by chemical treatment of wood pulp C. aaaT 3, Aol B 1[G & TN SUAR GR1 W [ a1 ol &
D. Acrylic 4. first fully synthetic fibre: prepared from coal. water and air | D. Tata® 4. Ul QUic: 19 aTe® bigaR T ol I & Ud, U1 3R §
A A-2, B-4 C-3 D-1 A-2, B-4 C-3 D-1
B A-4, B-2, C-1, D-3 A-4, B-2, C-1, D-3
c A-1, B-3, C-2, D-4 A-1, B-3, C-2, D-4
D A-3, B-1, C-4, D-2 A-3, B-1, C-4, D-2
Q.No: 35 The frequency of sound is expressed in which of the following? afy 3t amgfy Fafafea ¥ 3 el oo ot o 82
A r.p.m Gﬂ'!'.tﬂ.@.
B Decibel e
C Newton e
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D

Q.No: 36
A

B
[
D

Q.No: 37

O 0o w

Q.No: 38

o 0O w

Q.No: 39

Q.No: 40

O 0o o»

Q.No: 41

o 60O W >

Q.No: 42

o 0O w

Q.No: 43
A
B
c

Hertz e

Echoes is produced by the repetition of- yfcieaf fFad TR-aR §W IR 3T Bt 8-
Deflections faérqor

Defractions et

Reflections R

Refractions ST

Who stated - ‘The first wealth is health’? e BT T - 'UB o WA 82
Narendra Modi T Tt

Mahatma Gandhi gTeT st

WHO Swquasi

Ralph Waldo Emerson P qreST T

Which of the following objects is required to form a shadow? BT g & fore fofofea B ¥ g axg @t sawaear g2
Transparent et

None of the given options fow e fawedl § A oIS A8

Opaque SURSRIT

Translucent TRYRA

What is the chemical formula of natural Magnetite? W fad Aiege &1 IGRAS T 71 82
Fe;0, Fe;0,

Fe,0, Fe,0,

Fe,H, Fe,H,

Fe,0, Fe,0,

I WA TR qd & arrafxy aof @Y o gt 1 e O multy ool 1 Y S wdi

In Fleming's right-hand rule, what does the fore finger represent? IR & et g1 F g H, aoit fae vfofafia avcdt 82
The direction of magnetic field iﬁﬁﬁ &= ot famm

The direction of electromagnetic waves fagga gata avnt 31 fo=m

The direction of induced current v ey 3 fa=m

The direction of electric field ﬁ@'ﬁﬂ &3 =

Objects like the sun are called as luminous objects. Which is the correct reason for calling them ?111 29 RS Y e s el Sl %I 3= U1 e 1 TE BRU G?FI—W?

such?

They give out or emit light periodically Y FUY-THY W BT 1 & 9T IS Bd &

They give out or emit light by the help of objects around them 3T U Y aﬁeﬁ @B Heg A THTY 3 T U1 Iafeld Bea ¥
They give out or emit light of their own A AT U FT IS & § A7 IIRAd BRa ©

They give out or emit light only in presence of other objects A 37 agall #Y Sulufy & & werw 23 § @ sffa o €
How many types of essential vitamins are there? AL faerfPH fPas ueR ¥ g 82

20 20

13 13

27 27

14 14

Which of the following is not a fact about ‘dum cuisine’? Frofifed # & SH-w1 50 FeF & aR # 9w T 82

Dum is given in flour sealed enclosures. oW BT e B WA g E‘I’ﬁﬁﬁﬁ'ﬂ'l GI'IHT%I

It is maturing of a prepared dish. qg U R 5 9t s 31

It removes original aroma. uaqamaﬁzaﬂm%n
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D The layer of ghee on top after ‘dum’ gives pleasant look.

EH ¥ 915 W A N B Wa g@e adt gl

I 99 R gd F 31l oot @t o gast B1 o g 3oty g et Y o "

Q.No: 44 Why ‘growth’ cannot be taken as the defining property of living organisms?

Non-living things also grow in size.
Non living things grow from inside.
Reproduction is not shown by some living beings.

Not all living beings show growth.

Q.No: 45 Which of the following has a function to pack the large DNA into cell nucleus?

A Ribosomes
B Chromatin
C Cytoplasm
D Lysosomes

"y @1 Shifdq sitdl @t oRuifta gufa & &9 & Fi 381 feran ST T g2
frrdifa awgt oft smer # w5t 31

forffa s ofgw & et 81
FO ToNa! gRI Fei Té faaman s g1
ot ofta ofe 7 fema &1

e & 9 fral 93 SeTe 1 30 gfemw | 15 57 a1 o §2
RECIEILE

Wi

GIEE ]

SRR

I U4 W qd F 7ufRy ool Bt o1 g1 B1 era: G: rutRy ot el Y o Wb

Q.No: 46 A sound of single frequency is known as -

A Tone
B Note
Cc Pitch
D Node

Which of the following statement is not required for the "Development of scientific temper and

Q.No: 47 scientific attitude"?

A The ability to accept the nature as it is.

B The search for truth and new knowledge.

C The capacity to change previous conclusions in the face of new evidences.
D The refusal to accept anything without testing and trial.

Q.No: 48 The force exerted between electrically charged objects is known as-

A Electromagnetic force
B Gravitational force

c Electrostatic force

D Magnetic force

Which of the following type of oven produce wood smoke, which surrounds the food and flavors

Q:No: 49 it while it bakes or roasts?
A Revolving oven

B Barbeque ovens

C Steam ovens

D Microwave ovens

Q.No: 50 Which of the following gas is filled in an electric bulb?

A helium

B Hydrogen
C Oxygen

D Argon

Q.No: 51 Which of the following causes the green colour of fireworks to appear due to the chloride salt of?

A Calcium chloride

U R B @ Hra @ -
=
R
1T BT JAR-UGE (Pitch)
s

FraRifEd & § S a1 o "ITfie @WyE R T eRen & e & 1

7oA # 3 § WeR T 6t & 31

T SR Y JH B @

T Agdl & arm frod et o ggam 1 e
werr ok S & o o ff WieR 1 A FoR|

faggd T ¥ oMk aegsll & 9 @M o 99 BT Fed §-
frgga g Ta

Ty g

fogga s@

YaPIg ad

i & 3 59 TSR 31 oiiad AHS! BT 4o 3T 1 ¢, Sl HIoH BT gl

aftwnlt sfta
TRAFY, ST
uTg 3t

TIgHIAT ST

o & 9§ faoreht & wew A H-W T o R R
HRerr

FIEgo

Siferftsr

3

e & & snfararch # &1 W1 6w FARGS TaU & HRUT AT a1 g
Py wRgs
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Q.No: 52

Q.No: 53

U 0o w

Q.No: 54

Q.No: 55

o 0 o

Q.No: 56

o 0O o >

Q.No: 57

o 0 w

Q.No: 58

o N w

Barium chloride
Sodium chloride & Calcium chloride

Sodium chloride

https://mppeb.cbexams.com/MPPEB_Cand_Objections/mstet2023candobjections/ViewCandResponse.aspx

Afan wiRgs
Tfean wRTES o ST FREs
NfETH wRgs

I uH W qd  enrufxy aof Y o g 1 a: q: amufty ool A Y o wdh

Identify the correct statement among the following:
The frequency determines the loudness of sound
The number of oscillations per second is called the amplitude

The loudness of sound is proportional to the square of the amplitude of the vibration
producing the sound

If the frequency of vibration is lower the sound has a higher pitch

Which of the following is not a food group as suggested by Indian Council of Medical Research?
Cereals, grain and products

Pulses and legumes

Milk and products

Homemade foods

Which of the following is not a method to measure area?
Using a protractor

Counting squares on a grid

Using a planimeter

Length x Width

Which of the following is an acid?
NaOH

NH;3

H2S04

CH30H

Fes03 + 2A1 — Al;O3 + 2Fe

The above reaction is an example of a
Decomposition reaction
Combination reaction

Double displacement reaction

Displacement reaction

frafatea & & U5t HUF B uga Sifor:
amafr @fr 3 waear o Fruffa s=dt
ufx A el BT W@ B AT BT WKl §

wafey &t yaear i Sad B A HUA B AT F T S THRGIT g

g Fu= Ft gl 70 g o el Bt g aiftre SR 7

YR fRfde SrguM aikwg gRT GeTe o Foafifed § § oH-1 am w9y

ST, 3T 3R JTg
I SR wierat
gy 3R I
TR BT G T

e & ¥ PH-30 dawa oo Bt [l 72 @2
TTGT BT ITANT HAT

% firs iR ot @t At
Qftex BT IgaRT FHRAT

TS % SIS

Frafafaa ¥ 9 wH-w onat 2
NaOH

NH;3

H2504

CH30H

Fex03 + 2A1 — Al;O3 + 2Fe

IoRa SHffHaT T FaTRY §
srque wfafssar

Huior wiafsra

Sa fawmos wfafen
fmu wiaferar

I U IR gd F Smufxy gof Y o gt 1 9m: g: muf oot A 3 o v

Which of the following west flowing river does not make an estuary?
Godavari

Periyar

Tapi

Narmada

Which of the following elements is a noble gas?
Helium
Carbon
Oxygen

Nitrogen

fofafed # & 3 & ufdm 3 ok g6 arch 7 vl e F el 82
Merast
iR

ardt
BLE

fafufea # § -1 7 IPY W §?
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Q.No: 59 Electric force between two charges depends upon: < SMa=N & o9 Igga g fulk axa &:
A The magnitude of charge only Had A BT GRATT
B The distance between charges only Fad Yol & T I gh
c Both magnitude of charges and distance between charges A 1 giewTor 3R Jmasit & i A g S
D None of the given options ﬁQ‘W fori 4§ ?ﬁé =I’§s°f
Q.No: 60 Which of the following is not included in the dimension of holistic health? Frufafed # X o1 T W $ omm # i T8 37
A Finance faw
B Physical buriices
C Spiritual reaTfars
D Mental RS
Which of the following statements is used to explain the process of preventing Rusting? S T A B Ufbdr BT IR F forg fafiRad & ¥ fvw s 31 399
a. Prevent iron articles from coming in contact with oxygen a. A3 @t axgall B sffwiioR & Iud § o A A%
Q:osSs b. Apply a coat of paint or grease to prevent rusting b. S WA I A F o U a1 WY $ 1@ Ra GG
c. Deposit a layer of a metal like chromium or zinc on iron c. Tig | HItay 71 5 SRt e1g I T WA $T HaT B
A b and c b e ¢
B Alla, band ¢ a, b &R c Wit
C aandc a ek c
D aandb asfiRb
Q.No: 62 Which of the following is called the remote-control centre of cells? Fafiea ¥ 3 58 SR o1 Rle-$ed 5 Hel ol g?
A Nucleus gferag
B Mitochondria BIECEg o
C Ribosomes !ﬁiﬁﬁ}m
D Lysosomes aEEE
Q.No: 63 Which of the following is Vector quantity? frgfafea # 9 oF-w wiew uf g2
A Distance ﬁﬁ
B Work It
c Amplitude il
D Acceleration R
Q.No: 64 Z?;:s:;i:g distinct echoes, what must be the minimum distance of the obstacle from the source SerT- o YRR W ¥ R aft ¥ 9 @ e 3 e {\’T 1 S TR
A 15m. 15 .
B 21.2m. 21.2 7.
C 17.2m. 17.24%.
D 34m. 347
Q.No: 65 A Spring balance is used to measure X whose SI unit is Newton. What is X? T BT qor 1 SUGRT X B 79 & Row b S 8, R S1 amd e
A Force Ch)
B Acceleration o
C Mass AT
D Velocity am
Q.No: 66 Which one of the following planet is considered as ‘Earth’s-twin'? Frafofaa & @ fog 78 & gt &1 gSar A7 o g2
A Mercury qY
B Uranus 3reur
C Neptune pgus
D Venus Rica
https://mppeb.cbexams.com/MPPEB_Cand_Objections/mstet2023candobjections/ViewCandResponse.aspx 12/23
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Q.No: 67
A

B
C
D

Q.No: 68

o 0O W

Q.No: 69

O 0O ®

Q.No: 70

o 0O ®w

Q.No: 71

O 0O W

Q.No: 72

o 0O w

Q.No: 73

o 0o w

Q.No: 74

o 0 w

By converting 6700000 Watt into kilowatt we get-
6.7 kW

670 kw

67 kW

6700 kW

What is a chemical equation?

None of the given options

A statement about the reactants involved in a chemical reaction
A statement about the products involved in a chemical reaction

A representation of the reactants and products involved in a chemical reaction

Which is called the building- blocks of food?
Fiber

Protein

Minerals

Carbohydrate

What is the most accurate method of measuring time?
Hour glass

Atomic clock

Water clock

Sundial

How many atoms are there in a phosphorus molecule?

5

4
6
2

Which of the following is incorrect information about various type of knife cuts?

Chiffonade - Finely sliced or shredded green leafy vegetables

Pysanne - only triangle shaped cuts on base of shape of vegetables

Jardinere - A long thin baton, about 2 cm long and approximately 3 mm wide and thick

Supreme -A supreme is a slice cut off a fillet, sometimes cut at a slant.

Which of the following is the smallest unit of time?
Millisecond

Microsecond

Nanosecond

Second

Which of the following is not true about the nature of science?

Science is critical thinking.
Science is open-mindedness.
Science is unidirectional in nature.

Science is respect for evidence

https://mppeb.cbexams.com/MPPEB_Cand_Objections/mstet2023candobjections/ViewCandResponse.aspx

6700000 a1 ! feliare & gea W g8 W gl 8-
6.7 f¥aae

670 faiare

67 fretare

6700 fHaare

IAE gefieRr @ 82

g g fwedt & @ @i 76T

i et § i sfieRS & TR ¥ te 39
wrarafe wfafiar & mite Sagl & aR § ue aas

IRt wfafear § e afeRe! ok Sael 1 akfiftea

Ao 1 fafedT safag 5 Fer o 27
WIgaR
Picie)
@t

EACIHECT

T A9 BT GG GNP qIpT F1 87
He BT T

TRATY W

T wgt

Yt

BRER & 7] & fra TR eI 82

5
a4
6
2

0 & § -1 9% Bled & ffF veR & IR F Ted STHRT 7

Rrers - I ¢ 5% 91wt g N Wer wfewt

TR - Aol & PR & YR W Fad Baiv & o1eR &1 5

SEAR - TS Al Uqal ST, TrHT 2 A et 3R @ 3 Rl et aik
i - ve gite ue uReT & TeT gon 0o goel ¢, Pf-el Rt oe R

IF UH R GE § SmafRy gof Y o g 1 3 G- mufy gl 1 Y S g

FofafEa § § g 9 999 31 39) -9 § ?
frdiRss

eSS

Fides

Ads

Fufafea & 3 o fagm ) uefa & IR & 99 18 §?
R TS 919 2

fasrr wfdba ot aran 1

R vl & wfexita 21

s womor 6t e @
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Q.No: 75

o 0O » >

Q.No: 76

o 0o w

Q.No: 77

o O W

Q.No: 78

O 0O W

Q.No: 79

Q.No: 80

O 0O m

Q.No: 81

U 0O m

Q.No: 82
A

https://mppeb.cbexams.com/MPPEB_Cand_Objections/mstet2023candobjections/ViewCandResponse.aspx

Read the statements to answer the questions.

Statement 1- Acid rain refers to the ways in which acid from the atmosphere is deposited on the
earth’s surface.

Statement 2- Acid rain is harmful for agriculture, trees and plants as it dissolves and washes
away nutrients needed for their growth

Which of the following is correct understanding about the given statements?
Only statement 1 is true.

Only statement 2 is true.

Both the given statements are false.

Both the given statements are true.

https://mppeb.cbexams.com/MPPEB_Cand_Objections/mstet2023candobjections/ViewCandResponse.aspx

sl & I & & AT FU B 9
BT 1- T T 3 Al P Yahild Fdl § R araraRor § o et 3

B 2- 3 auf PN, Ts-
Wl F e seRe ¥ FifE 98 37 fem F R smaxas dives ddl ) 9w

Faq YT 1 T 81
Faa PUT 2 AT B
fiw e Y T e B
e T S By W §

I U R qd F ermafxy gl Y o g 1 3 O muy oot 1 Y S wd

Reena places a candle in front of a concave lens, the image formed by a concave lens is always
Real

Inverted

Smaller in Size

All of the given option

Which of the following is energy possessed while lifting the hammer?
Potential energy

Kinetic energy

Nuclear energy

Chemical energy

What does 'c' stand for in Einstein's mass-energy equation?
Speed of Earth

Speed of light

Speed of sound

Speed of electron

Which of the following statements is NOT TRUE regarding the refection of light?

The angle between the normal and incident ray is called the angle of incidence.
The angle between normal and the original mirror is called the angle of reflection
The light ray, which strikes any surface, is called the incident ray.

The angle of 90 degrees to the line representing the mirror at the point where the
incident ray strikes the mirror is known as the normal to the reflecting surface at that
point.

On which of the following the weight of a person will be minimum?
Venus

Mars

Mercury

Moon

The range of a laboratory thermometer is generally from-
-10°Cto 110°C

9°Cto 105°C

-9°Cto 109°C

10°Cto 110°C

The kinetic energy of an object depend on-

Velocity

1 TP ARl B efaae oG P AHT G 8, Sidde ¥ gRT G dren ufates
Epsited

et

PR F Ber

fog mg @it fawea

TS B Iol T T A FH-W o gt 32
feufes =it

et Swif

RATY Sl

A FHett

MEETZA GHAM-Su Tfiaxor & ‘¢ g 1 gt 2-
gt @t wf
WHTRT B T
wafy &t nfq

FeaR B

TR F Wiaa & oo §, Fafifed # I oF-a1 $3F 9 T8 32
afirig ok smufia f6wor & @ & S Bt amuaT 01 B 1
sifireid auT g Sdur & T F 01 B Wiad= S0 Bed g

wepTeT fHRur, it fohdt oft TaE & T , smufod fsvor wemd 21

R fig w srmufera f=or gdor @ ewvrdt B, S0 fig W v ot forefia @
M fig R Wiads g & oficd & &9 & ST o 81

7a & 3 U ®IF R @ $1 4R 999 S g 2
RiEg

T

qY

el

T TR yniier F e o dR R A @-
-10 fo7ht dfcraw & 110 f&h Sk

o f&oh Sfcraa & 109 fft Afcraw

-9 f&iht AR & 109 &H AR

10 f&ft Af*mw @ 110 i IfRTw

et reg 81 TR it PRk el 3

Eul
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B
C

Q.No: 83

O O W >

Q.No: 84

Q.No: 85

o 0 w

Q.No: 86

o 0w

Q.No: 87

o 0O w

Q.No: 88

O 0w

Q.No: 89

Q.No: 90
A
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Both Mass and Velocity
Mass

Displacement

Next day after the new moon day only a small portion of the moon appears in the sky. This is

known as-

None of the given options
New moon day

Full moon day

Crescent moon

https://mppeb.cbexams.com/MPPEB_Cand_Objections/mstet2023candobjections/ViewCandResponse.aspx

oA 3R & AT
EniE
fawme=

ST T SR & 91. oMT=1 § I5H1 &1 Phad U@ Blel Y @S qar gl 38

o g fawedl @ w1 T
CLICE

gfofar
EIGEE)

I 0y W gd & Tty goi B S gt B1 31 T MOy Iof T8} B o1 WA

Which one of the following is not a property of the solution?

The particles of a solution are smaller than 1 nm (10 meter} in diameter.

They can be seen by naked eyes.
The path of light is not visible in a solution

A solution is a homogeneous mixture.

The magnification of the mirror is negative that means the image is-
Neither real nor virtual

Virtual

Real

Either real or virtual

Repetition of sound produced by the reflection of sound waves is called:

Tone
Double
Note
Echo

Who demonstrated that the diamond is composed only of carbon?
None of these

Antonie Lavoisier and Humphry Davy

Carl Wilhelm Scheele

Greenwood and Earnshaw

Which of the following is the name of female reproductive cell?
Chromosome

Gene

Ovary

Sperms

What is the angle between force and displacement at which work done is maximum ?

90°
00

45°
60°

Which one of the following is not a natural indicator?

Turmeric

Fofifed & § SH-o1 FeE $1 ol T4 82
AIAF U BT RIT & ST 1 nm (10 HITH) T HfAF|
T Y ariEl @/ T o WA 1

7 8 Yot 1 Anf s e e

TP WU TP qorrea e 21

atfor 31 sl HumeTs g § siufa wifar g @-
o arEfa® 7 STHTR

syt

Ensiced

a1 &Y IRafa® A syt

R T F WA § I0F @ 3 FREh Feant 8
e

ST

R

wReafy

e v o 5 R Saat e 9 & S 32
FH A D T

e AaifemR ofi gwrt 3t

FTet g Agw

gs <i7 orf=iv

Frofarya # § $ AT yoFE SR w1 W 8

TOREA
g
cieie
RIEQV

@ 3R IR F g &1 B fran Bar & R W fvan man ol sifraw

90°
00

45¢
60°

Fofafed § ¥ -9 TPle ddae T61 87
gt
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B China rose petals
Phenolphthalein

Litmus
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A Tare it ugfear
PArwelT
ferema

9 & I HH A BIRST BT g7 9ed 37
o=
b

HfFaes TS
R

I uy WX qd # SrafRy ot At o gD B1 31 G: ammafty aof A Y o "t

Q.No: 91 Which of the following is main component of human cell?

A Genes

B Protein

C Nucleic acid

D Water

Q.No: 92 Before entering the c?assroom the teachelj starts to ask himself, "What c}?anges in the behaviour of
the students can I bring about through this lesson?" Such changes constitute the teacher's

A Educational objectives

B Teaching strategies

C Teaching methodologies

D Evaluation methods

Fe H T I Y U7 e T § g1 L& Rl 3, "3 U6 F WA §
o Gl §2" 39 RGP IR RIEF & BT 767 F g

A Izl
Rreror Turifeat
Rreor faftray
et fafitmy

Q.No: 93 Which one of the following types of medicines is used for treating indigestion? 3T F 3a & g g d § few geR Y <a1 1 IuanT far o 82
A Antiseptic wRife
B Antacid e
C Analgesic TSRS
D Antibiotic Ehardtfes

While Mr. Raj was teaching his students, about acids, bases and identifying them, he explained T foReR. X 3O BT P 3, 4R SR IS UM & ey F eI 3 A
Q.No: 94 about the indicator - 'Litmus paper' which is commonly used to infer the pH of substances. One of - 'fTeHY YIR' Sl SMHAR W &Il & 'pH' &1 SFHM TH & T Iudnt a1

the students asked about where the Litmus dye is sourced from. What would be the answer to this? g1 & e =75 Fat 3 v 3 SRl 81 ST IR T 8Fme
A It is sourced from butterflies 3 faferat & wiw fbar Smar @
B It is synthetically created in labs g $TAW wu A warmmersi # A o &1
C It is a mixture of ink and iodine g WIst 39) 3R MEIEA &t fyor g @
D It is extracted from lichens T AP § Fropren o 31

I 7y R gd & oy gof ot S gAY B ora: TA: Smafy gof TS o wHni

Q.No: 95 Which of the following is not a ferrous mineral? Fofafea & § #F @ dre e T8 87
A Vanadium A
B Platinum e
C Molybdenum HiferesTH
D Chromium Eaitiues
Q.No: 96 The image formed by a concave lens is always - JIAT AT ERT &1 Uffene g gien @ -
A Real and erect IRaAfaF R et
B Virtual and inverted Smurelt ok Seer
C Real and inverted IRaAfaw® R IweT
D virtual and erect STt ofiR <fter
Qs 7 11t o et s o cion o b i g 8 o e, 9
A The magnitude of the force acting on the conductor. TP W S B aral T BT GiRAmT
B The direction of the force acting on the conductor. AP W B HA a1 5 B 27w
C None of the given options fiw e Rreedt & § 1€ 161
D The speed of the conductor Heae o i
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Q.No: 98
A

B
C
D

Q.No: 99

o 0 W

Q.No: 100
A

B
C
D

Q.No: 101

Q.No: 102
A

B
Cc
D

Q.No: 103

O 0o w

Q.No: 104

o 0O W

Q.No: 105

0O W >

What happens when dilute hydrochloric acid is added to iron fillings?
No reaction takes place.

Iron chloride are formed and chlorine gas liberated

Iron chloride are formed and Hydrogen gas liberated

Iron salt and water are produced

What is the principle behind distillation?
Differences in boiling points of components
Differences in melting points of components
Differences in solubility of components

Differences in density of components

What type of change is crystallization?

Both a physical change and a chemical change

A chemical change

Neither a physical change nor a chemical change

A physical change

Which of the following statement is CORRECT?
Hypothesis is a proper explanation for a phenomenon.
Analysis is a judgement/decision reaching by reasoning.

Observation is a matter of concern depending on or involving a specified condition or
thing.

Experiment is the examination of anything that is difficult to understand.

Which among the following causes Hydrophobia ultimately?
A protozoa

A bacteria

A virus

A worm

Which of the following best describes an opaque object?

An object that allows light to pass through it completely
An object that bends light

An object that does not allow light to pass through it

An object that reflects light

Which of the following is scalar quantity?
Work

Acceleration

Velocity

Force

A teacher brought two jars in the class. In one of the jars, she placed some gram seeds in the
strainer and rinse the water before placing them in the water and let them soak overnight and in
another jar, seeds were soaked without water.

(A) The seeds soaked in water starts growing into sprouts.
(B) The seeds without water were as it is.

Both the statements are inferences

A is inference and B is observation

Both the statements are observation

A is observation and B is inference
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Q.No: 106 Which unit of length would be best to measure the distance between two cities?
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e B - 3T A e F fi" A g B A F R wed srdt dfie

A Meter e

B Centimetre Jhftex

C Millimeter fircfftes

D Kilometer e

Q.No: 107 The correct unit to represent the speed of an object is et g &1 7 1 wfaffa 37 & e o 3o ©

A 5 mp 5 mp

B 5m/s 5m/s

C 5s/m 5s/m

D 5 misl 3 mist

Q.No: 108 Avogadro’s number is defined as the number of atoms in exactly of C-12. SANTISI 1 TS B C-12 & S H A B ¥eT & T

A 0.012 mg 0.012 o

B 0.012g 0.012 91H

C 0.12 kg 0.12 fpat

D 12g 1299

Q.No: 109 Which one of the following is not an application of multiple reflection of sound? fufofed & ¥ SIF-91 @i & 9 WIadd ST ST T8 872

A Stethoscope ufeymas

B Hydrophone 3133}@7{

C Megaphones f:ivacs

D Ceiling of concert halls B g DY B

Q.No: 110 Which of the following is a correct statement about Fibrinogen? BrEfeEor & ar § Fofifad § 9 9 91 $3F I8 82

A It is present in kidney only. wmgﬁﬁ'rﬁwﬁm%l

B It is present in liver but develop in WBCs. (White Blood Cells) g Hax & Hivfg g @ df wec § R gar 21 (Y s

C It is present in blood but develop in bone marrow. g T A Hiefg giaT & e iRy 7w A R dar 81

D It is present in blood but develop in liver. ugmﬁﬁqzam%%ﬁﬂmﬁﬁwﬁms}mﬁ

Q.No: 111 At what temperature water has maximum density? 59 qUHF | 9d &1 99d SHFad g 82

A 3°C 3eC

B 6°C 6°C

C 0eC 0eC

D 4o€ e

Q.No: 112 The process of separating hydrogen from water is called U 9§ FIEgIoH P SRR & I Ufehdn &l gl ST B

A hydrogenation GESIEEIET ]

B Electrolysis gaagee

C Osmosis SR

D Compaction LibEE

Which of the following term is used to denote the degree of resistance of a soil mass to crushing or ARG & I $H W1 g I AN TH R FIa- 1 A & e g & gom

Q:No: 113 breaking when force is applied? Torg it foa i 82

A Soil strength ﬁl@ P dHd

B Soil mass frdt &1 gomma

C Soil texture ﬁ@ P} g6

D Soil erosion HaT eI
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Q.No: 114

o 0O m >

Q.No: 115

o 0O w

Q.No: 116

o 0O m >

Q.No: 117
A

B
Cc
D

Q.No: 118

O 0O W »

Q.No: 119

U 0O w

Q.No: 120

Q.No: 121
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Read the statements to answer the question.

Assertion (A) - The geographical area of India is only 2.4% of the world’s total area.

Reason (R) - The per capita availability of land resource in India is likely to reduce further under the

pressure of growing population.

Only R is correct.

Both A and R are correct. R is the correct explanation of A.
Only A is correct.

Both A and R are correct. R is not the correct explanation of A.
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U4 B JWR 3 $ A S 31 08

T (A) - YRA B HRifs & Ay & &wa 1 Had 2.4% B

PR (3R) - HRA H Ui safe yfH IeA &1 IUe Fgal el & gard
Faa R T 1

T 3R o < wET €1 R, A 9 W6 e g

Faa A T 1

T 3R e S wd §1 R, A B et e i 81

I Uy R gl # SMafy gof #t o YHT |1 3r@: T: mafwy ol ST Y S ga

CO: and O3 balance in atmosphere is due to:
Photosynthesis

Respiration

Photorespiration

Leaf anatomy

A cyclone is known by different names in different parts of the world. It is called a 'hurricane' in

Atlantic Ocean
Antarctic Ocean
Arctic Ocean

Indian ocean

CO; THUT O, T I, ATATAXOT H FaAT Wl &7
THTRI ARAYUT & HROT

I F FRUT

ST 4E & SR

uuf ST & HIRUT

TehaTd ] T I S-S TR SIerT- SferT A | ST e €1 A ¢
g

Jedifes TR
SIERHTe® AR
STHRe® HETERR

f¥e werRR

I vy o) gd A Srafvy st ot o1 gt Bl ore: g: Simafy aof ) & o wdh

If 10 N of force is applied on an area of 5 sq. metres, then what is the pressure?
2Pa

50 Pa

40 Pa

20 Pa

Rohan standing in a rectangular room wants to measure the dimensions of the room. Which one
of the best instrument he can use to measure the exact dimensions?

Rope
Ruler
By hand

Measuring tape

Which of the following metals is a liquid at room temperature?
Gold

Silver

Copper

Mercury

Laboratory thermometers have the range of:

-1°Ct0100°C.
0°Cto110°C.

-10°C to 110°C.
-10°C t0 100°C.

In which of the following statement is not a characteristic of Discovery learning?

gfe 5 9 Hiex & &9 W 10 N S A1 Sl 3, T qad e gm?
2 Pa
50 Pa
40 Pa
20 Pa

TP HAAIHR HH F TST A SR 3 famiail &) A =g 21
Tiw STt Y Ao & g g for wala SUSRor T IWT TR Il 97

=it

RS
IR
HIU BT W

fafifEa 7§ § FH- uIg FR S TOHE W 59 82
|
ardt
GIEl
RT

RTINS YWiHeR Bt e it g
-1°C & 100°C

0°C & 110°C
-10°C¥ 110°C
-10°C & 100°C

frofifEa # § SF-T1 Ty oW siftrm ) fadivar T &2
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A

Q.No: 122
A

B
[
D

Q.No: 123

O 0o o

Q.No: 124

o 0O W

Q.No: 125

o 0O W

Q.No: 126

o O

Q.No: 127

o 0 W

Q.No: 128

o 60O w

Q.No: 129
A

Teacher's guidance where the emphasis is on building upon students’ reasoning and

connecting to their experiences
Encouragement of students to ask questions and enquire through exploration
Encouraging students to make friends in the classroom

Open-minded culture of the classroom

How many chromosomes monkey, chimpanzee and gorilla’s cells have?
46
50
48
52

Which of the following is necessary for sound to travel?
Surrounding

Interface

Medium

Environment

Which of the following best describes a transparent object?
An object that allows light to pass through it completely
An object that reflects light

An object that bends light

An object that does not allow light to pass through it

Which of the following best describes a translucent object?

An object that does not allow light to pass through it
An object that reflects light

An object that allows light to pass through it completely

An object that allows light to pass through it partially

Sugar is transported from the leaf by
Phloem tissues

Closely packed palisade cells
Loosely arranged spongy tissues

Bean like stomata cells

first showed the interference of light experimentally in 1802 AD.
Franklin

Thomas Young

Archimedes

Galileo

Which of the following statements is incorrect about the nutrition plan of a young athlete?
On the day of competition do not try anything new.

Pre competition diet needs to be rich in carbohydrates.

Large amount of food just before the competition help reduce fatigue.

Have the last drink before the 15-20 minutes before the competition.

The property which differentiates the two kinds of charges is called
Field of charge

Polarity of charge
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C Strength of charge TSl B qrpd
Amount of charge e I AR

Q.No: 130 What is the method used for the separation of solid components from a mixture of solids? B ugrdf & 01 § 319 goHl i o F F oy [ fafy F1 guam fFar <

A Filtration forge (Filtration)

B Centrifugation SUFHT (Centrifugation)

C Distillation 3rH4aq (Distillation)

D Sedimentation qATIGT (Sedimentation)

Q.No: 131 What is the formula for calculating power? T P MOAT FRA HT G T 82

A Power = Work/Charge iR = Brd/emaw

B Power = Work/Time fR = wrl/aug

C Power = Time/Work ifRT = waa/ord

D Power = Work x Time feRT = &R x AT

Q.No: 132 Which of the following regulates the transport of materials entering and exiting the cell? Fraffea & T S Bk § Ta B4 3R 91R e are 9l & aRag 3

A Plasma membrane reat fredt

B DNA ST

C Lysosomes e

D Organelles KioEr)

Q.No: 133 Which of the following gives the name of liquid found in cell? fFafafad & & S IR § UTY S 9Te 59 6T AW &l 82

A Ribosomes IrgarT

B Water it

c Cytoplasm aTgerasd

D Protein LIciE
A g 1 ol 1 18 i St o0t e o o

Q.No: 134 he divides the project into equal number of part to the area of knowledge applicable and ;nanages % R0 R 97 % R &4 1 S e B m ¢ SR 1 RS
to complete the project successfully. This can be explained by the way of which of the following I SR TReAT B WW T 1 R el 81 urieR
laws of learning propounded by Thorndike? 3 oo Yo 3 TR Siren < et &2

A Law of Multiple response CH wfafrar fFrm

B Law of Partial Activity 3iifrep-forar &1 fFam

C Law of Effect wuTa &

D Law of Readiness qeRar &1 foraa
When a student is told by his teacher about a test which s/he plans to hold, it would encourage him & T S & 3{TU% $ga ¢ & P & Tawt Ua witen ot smaht o a=¢

Q.No: 135 to attend to the specific chapters. Which of the following forces him to focus your attention on oy sreamlt W aifde & 37 wran B FeRa A Y s @ S aR 1
reading, learning and revising the contents of the chapters? g, SR ayT WRaw & fare Siftmia war 82

A Arousal YTT FETT

B Attention ECRIE

C Planning FrerT

D Simultaneous successive REaIted Bﬂ'-ﬁv'ﬁﬁ?
If an organism has learned to make a response for getting reinforcement, and then the response is e WItfl Tae UItd & & fAT U sfepan AT W §1 9P TIE 33feha

Q.No: 136 extinguished and thereafter lapses and after lapse of considerable time, the learned or Conditioned STl 1 I8 U T § f& STt wva dfid o9 & a7q Wit g8 e srfora
Response recovers and occurs to the Conditioned Stimulus. This is called? efia IEue F ufa ufed 2k 71 38 wEd B2

A Extinction i

B Discrimination ﬁﬂa#

C Generalisation AT

D Spontaneous Recovery d: gﬂ:m
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Q.No: 137 At embryonic stage the layer Mesoderm develops in: yor eiaR B B wd e fasha gt 8:
A Nails g
B Muscles wigeRmt
C Lungs L
D Skin «dr
Q.No: 138 According to Piaget, the Preoperational stage of a child is from RIS F SR, TP 9 B GI-IAIAH AR F& Y F9 ad ot 8?2
A 12 and up 12 R FW
B 7 to 11 year 79119
[ 2to 7 year 2¥ 78
D From birth to 2 years child SR 2 qf ¥ 7= 9
As soon as the process of motivation stops S & IR ) ufer Sl §, |
Q.No: 139 1. activity of the person also stops 1. SAfgq @t fafafdy of v ot ¥
2. need of the activity becomes dead 2. AT BT naxgEHar gHT B oI §
A Only 2 is correct Paa 298 7
B Only 1 is correct Fad 1 T8 T
c Both 1 and 2 is correct 1R 23wt}
D Neither 1 nor 2 Adr1iRTE2
Q.No: 140 Which is not related to importance of socialization. P & SA-T1 IHeiERY & T ¥ Hafdd e g1
A Development of stress Eeickaltean]
B Development of social skills TaTfere erarsit ®1 faer
C To teach of the responsibility of social roles TaTirE Yttt @ gfd @1 uikigor
D Development of sociability Jfordr a1 fawr
Q.No: 141 Which of the following activity gives pleasure of a child. qaF B g ¥ sH-f v o T R € -
A playing [T
B eating REIE1]
C crying AT
D sleeping AT
Q.No: 142 Who among the following criticized European colonization for the suffering of Indian education? Frofafed # ¥ $9 yrdia Rien 3 digT & g R IUMARAR ST S
A Rabindra Nath Tagore Mgy SR
B John Dewey wirT fedt
C Jean Jacques Rousseau S - W T4l
D Sri Aurobindo ot erfder
Q.No: 143 Tarun comes from an ec9nomically deprived farTlin. Which o.f.the following can be one of the qov 3 w9 Y dfyd uiar § o §1 !
measures taken up by his teachers to ensure his equal participation in class? e W ID! GAF HFiEGR AT H7 & faw 39® Rie! gR g3e 7Y Sur
A E::;T:_ge students to form heterogeneous and democratic groups for weekly AR aReETelt F Rre ot @t fww aiv WW T ¥ R
Hold higher expectations from Tarun than the rest of the students. EiciKE aﬁmﬁm J aiftre It wami
Allot him a separate seat away from the rest of the students. I 1P BT A 3T He anafea v
Hold Tarun responsible for funding his education. St Rren & far diwor ¥ Rig aour wt Rrdler g
Q.No: 144 What is the state-sport of Madhya Pradesh? e e &I Io9-9ad 1 g2
A Mallakhamb e
B Khokho @l
c Kabaddi Fadt
D Hockey B
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Q.No: 145 In which year was the government's flagship scheme Pradhan Mantri Jan Dhan Yojana (PMIDY) IRPR &) UGG A YU 5 & ASHI(PMIDY) %Hatfﬁg??ﬁﬂ'rs‘ o

launched?

A 2014 2014

B 2012 2012

C 2008 2008

D 2016 2016

Q.No: 146 ;Jnr-:::c:aslus;mfnﬁ:ioﬂlrgzzrnf:;i‘ (;;?e;{;izr;Singh Shekhawat inaugurated the _____ India Water T o i T o g Rig ST ¥ 15 RER, 2022 3 HRA ST

A 5th 5%

B oth 9d

C 7th 7%

D 11th 11d

Q.No: 147 Megha Parmar of Madhya Pradeshisa . A RI B AN TRARTE ___ &8l

A Cricketer frdex

B Journalist LECAN

C Singer MaH

D Mountaineer RIS
In the following equation, select correct combination of mathematical signs to replace A and Fafafea itz §,

Q.No: 148 balance the equation A B UfaRfia s 3R Tefieru 3 Aqfera s & fore il fogl & agt ©d
65A85A17A14A5 65A85A17A14A5

A -+, = % - =%

B +, 5= % +,F =X

C =%+ =%+

D +,- %X, = +,- X, =
In the following equation, select correct combination of mathematical signs to replace A and frafiad gefiexo 3§,

Q.No: 149 balance the equation. A I Ui B 3R THiieRu B wgfer TR & forg il fegl & ot o
64 ABABAB6A22 64 ABABAB6A22

A +, - X, = +,5 X, =

B =, X+ ==X, +

C -+, X, = =+, X, =

D T X, =, - =, X, =, -
In the following equation, select correct combination of mathematical signs to replace A and Frafifaa grfteor &,

Q.No: 150 balance the equation © MPESB. All rights AGRVIHIRITIT T 3R THia=ur &t Tgferd wwa & foe mirdtg Rl & adt ©a
89A79A10A7A80 89A79A10A7A80

A +, =, % +, 5, =%

B FE Xt == X+

C +, - X, = +,- X, =

D -+ X, = =+, %X, =

https://mppeb.cbexams.com/MPPEB_Cand_Objections/mstet2023candobjections/ViewCandResponse.aspx 23/23

Page- 23



